FHOERE $HREBOMSENE TSR

g BREHFR
TREE nan | memme
7 +3™ L1134 (Bg/keg) 379 1137 (Bg/ke)
17~21 B3 (0.48%K ) B9 (0.665K#H)
)=} 47 -
24~28 B9 (049K ) BHEEY (0.61%KE)
8~12 BHEEI (0.525%KH) B9 (0.59K5#H)
FEH 58
22~26 BRHE9(0.60%KH) BRHEET(0.63FKE)
5~9 R (0.645KH) BRHEET(053%KE)
NF 6 A -
19~23 BRHEE9 (0.53KH) RHEET (043FKE)
3~7 BREET(047KHE) BRHEE9(0.56KH)
HEB 1R -
18~21 BRHEEI (0.45K5) B9 (0.61KH)
4~8 B9 (0.60K:) B9 (0.63%KH)
= 9AR -
19~22 BHEEI(0.61FKH) BHEY (0.54%K )
2~6 B9 (048K ) B9 (0.52%K#)
FEH 108
16~20 BHEEI (051KHE) B9 (0.56K:H)
6~10 BRHEEI (057KHE) BRHEET(0.62FKE)
HF 11A -
20~24 B9 (0.505%K ) BRHEET (056KHE)
4~8 BRHEE9 (0.53KH) B®RHEET (0.57KH)
BER 128
18~22 BRHEE9 (0.66K:H) BRHEE9(0.56KH)
15~19 BRHEET (057FKE) B9 (0.60KH)
= 1H -
29~2/2 BRHEE (0.52FK ) B9 (0.60KH)
13~16 B9 (0.53%k ) BHEEY (0.61FKE)
5 H 2R -
26~3/2 BHEHET(0.61FKE) BHEEY (0.47%5E)
HF 38 12~16 BHE9(0.57%K ) B9 (0.605%k )




